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Note : 

i. All questions are compulsory.

ii. Programming language c++ .

iii. Answer the questions after carefully reading the text.

1.

a. Name the header file to which the following functions belong :


(2

i. isupper()

ii. strcmp()

iii. exit()

iv. printf()

b. In the following program, if the value of n given by the user is 20, what maximum and minimum values the program could possibly display?   



(2



#include<iostream.h>



#include<stdlib.h>



void main()



{




int n, guessnum;




randomize();




cin >> n;




guessnum=random(n-10)+10;




cout << guessnum <<endl;



}

c. Answer the questions (i) and (ii) after going through the following program :
( 2



class game




{




int time;




public:





game()




//function 1





{






time = 0;






cout<,”match commences”<<endl;





}





void details()




//function 2





{






cout << “inter section basketball match”” <<endl;





}





game (int duration)



//function 3





{





time = duration ;





cout << “another match begins now “<,endl;





}





game(game & m)    



//function 4





{





time = m.duration;





cout << “like previous match” <<endl;





}




}

i. Which category of constructor - function 4 belongs to and what is the purpose of using it?

ii. Write statements that would call the member functions 1 and 3.

d. Give the output of the following program segment :




(3

     void main ()


{



char *name = “Securing The Desktop”;



for (int x=0; x < strlen(name); x++)



if (islower (name[x]))




name[x] =toupper (name[x]);



else



if(isupper (name[x]))



if(x%3 = = 0)




name[x] = tolower(name[x]);



else




name[x] = name[x-1];

  
puts(name);

 
}

e. How is data hiding implemented in C++.






(1

f. What do you understand about a base class and a derived class? If a base class and a derived class each include a member function with the same name and arguments, which member function will be called by the object of the derived class if the scope operator is not used? (3

g. Find out the output of following  c++ prgoram?





(2



 #include <iostream.h>

int area(int s)

     {

     return(s*s);

     }

 float area(int b,int h)

     {

     return(0.5*b*h);

     }

     void main()

     {

     cout<<area(5)<<endl;

     cout<<area(4,3)<<endl;

     cout<<area(6,(area(3)))<<endl;

     getch();

     }

2.

a. What do you understand by default constructor and copy constructor functions used in classes? How are these functions different from normal constructors?

(2

b. Declare a class myfolder with the following specifications :



(4


Private members of the class


filenames -

an array of stings of size [10] [25]






(to represent all the names of files inside myfolder)


availspace -

long






(to represent total number of bytes available in myfolder)


usedspace -

long






(to represent total number of bytes used in  myfolder)


Public members of the class


newfileentry() -

a function to accept values of






filesname, availspace and usedspace from user


retavailspace() -
a function that return the value of total kilobytes available






(1 kilobyte = 1024 bytes)




showfiles() - 

a function that displays the names of all the files in myfolder

c. Consider the following declarations and answer the questions given below : 
 (4



class vehicle



{




int wheels;



protected:




int passenger;



public :




void inputdata(int, int);




void outputdata();



};



class heavy_vehicle : protected vehicle



{




int diesel_petrol;



protected :




int load;



public:




void readdata(int,int);




void writedata();



};



class bus : public heavy_vehicle



{




char make[20];



public:




void fetchdata(char);




void displaydata();



}

(i) Name the base class and derived class of the class heavy_vehicle.

(ii) Name the data member(s) that can be accessed form function displaydata.

(iii) Name the data member(s) that can be accessed by an object of bus class.

(iv) Is the member function outputdata accessible to the objects of heavy_vehicle class?

3.

a. An array p[15][22] is stored in the memory along the column with each of the element occupying 8 bytes , find out the memory location for the element  p[5][15], if an element  p[2][20] is stored at the memory location 2000.




(4

b. a)Define a function swaparray(int[],int)that would accept a one dimensional integer array NUMBER and its size N. the function should rearrange the array in such a way that the values of alternate location of the array are exchanged      



(4
example:

if a[4]={2,3,4,5,6,7,8,9}

then

c[4]={3,2,5,4,7,6,9,8}

c. Evaluate the following postfix notation of expression :



(2



TRUE, FALSE, AND, TRUE, TRUE, NOT, OR, AND.

d. Give the necessary declaration of a linked implemented stack containing integer type numbers; also write a user defined function in c++ to pop a number from this stack.  (3

e. Each node of a stack contains the following information, in addition to 

    (3
required pointer field :




(I) 
roll number of the student




(ii) 
age of the student



give the structure of node for the linked stack in question



top is a pointer points to the topmost node of the stack. Write the following 

functions.

(i) Push() – to push a node in to the stack which is allocated dynamically.

(ii) Pop() – to remove a node from the stack and release the memory.

4.

a) consider the following class declaration :
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class  student

{

int addno;

char name[90];

float totalmarks;

public :

void  getinfo()  {cin>>addno>>name>>totalmarks ;}

void showinfo () { cout<< addno<<name<<totalmarks;}

float  rettotmarks () { return totalmarks;}

};



give function definition to do the following :

(i) write the objects of student to a binary file.

(ii) Read the objects of student from a binary file and display all the object on the screen where totalmarks is between 456 and 498 .

b) what are the different functions available for file I/O error handling  in c++  ?(1

5.


a. Given the following tables for a database library  BOOKS:


(6+2)

	book_id
	book_name
	author_name
	publishers
	price
	type
	qty.

	k0001

p0001

m0001

n0002

k0002
	Sanjeev & sanjeev

Genuine

Mastering c++

Vc++ advance

Near to heart
	Sanjeev

Sanjay mukharjee

J. Mukhi

Kanetkar

P. Purohit
	EPB

FIRST PUBL.

EPB

TDH

FIRST PUBL.
	755

1650

350

150

2341
	Cookery

Fiction

Text

Text

Fiction
	15

20

89

78

16








TABLE : ISSUED

	book_id
	quantity_issued



	k0002

p0001

m0001
	4

5

2


Write sql queries for (a) to (f):

i. To show book name, author name and price of books of first publ. Publishers.

ii. To list the names from books of text type.

iii. To display the names and price form books in ascending order of their price.

iv. To increase the price of all books of epb publishers by 50.

v. To display the book_id,book_name and quantity_issued for all books which have been issued.(the query will require contents from both the tables.)

vi. To insert a new row in the table issued having the following data : “n0002 ”, 16

vii. Give the output of the following queries based on the above tales:

a. select count(*)from books;

b. select max(price) from books where quantity>=15;

c. Select book_name,author_name from books where publishers = “epb”;

d. Select count (distinct publishers) from books where price>=400;

6.

a. State and algebraically verify Absorption Laws.


(1

b. Write the equivalent Boolean  expression for the following Logic circuit.









(1
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NOTE :  
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c. Reduce the following Boolean expression using using K-map:
(2


F(U,V,W,Z) = ((0,1,2,4,5,6,14,15)

	U
	V
	W
	H

	0

0

0

0

1

1

1

1
	0

0

1

1

0

0

1

1
	0

1

0

1

0

1

0

1
	0

1

1

1

0

0

0

1


d. Write the Product of Sum  form of the function H(U,V,W). truth table representation of H is as follows.




(1






















































































e. Verify X.Y’+Y’Z=X.Y’Z+XY’Z’+X’Y’Z algebraically.
(1.5

f. Represent the Boolean Expression  (X+Y) (Y+Z) (X+Z) with the help of  NOR  gate.







(1.5

7. 

a. Differentiate between router and  bridge .




(1

b. A company wants to form a network on their five computers to server within the company premises . is star topology suited for company ? why /why not ?

(1

c. Expand the following terms:









 GSM   ,   CDMA ,  WLL   ,NIU




(2

d. SYMANTEC SOFTWARE  caters to many high profile clients and has 5 buildings where it runs its operations (shown below)





(4
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The distance between buildings are shown through 
[image: image4] in above diagram . the number of computers in each building are 

· Building pro has 55 computers

· Building graycell has 185 computers

· Building wizard has 60 computers

· Building robo has 70 computers

· Building master has 70computers

Answer the following questions on the basis of above given information.

I. Suggest the possible cable layouts for networking the building s.

II. Where would you suggest the placement of server. Justify your answer,

III. Suggest the placement of hub/switch in the network.

IV. Mention in economic technology to provide internet accessibility to all buildings.

ROBOO





MASTER





WIZARD





GREYCELL





PRO





OR GATE
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